
Calculus II

Curve Tracing
Trace thecurve

y =
x +5x2 +3x - 4.

1. Symmetry:Sure isnotsymmetrical
about1-amisand

y-axis.
2. Origin!Curve does not pass through origin.



3. Brain:- ( - 1,87
4. Point ofintersection withan
for y-axis. Putx=0

y = - 4.

:. Gave meets y-axis at(0,-4)

for x-axisputy =0

0 =x +5x2 +3 - 4 - 0



x = - 4 satisfies
By synthetic division
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5. Amptolestthe sure has no

asymptote.



6. Increasing anddecreasing.

y =x +5x2 +3x - 4

=3x + lou

e 6x +10

Yo



3x2 +10x +370

3x2 + 9x +x+3 50

3x(x +3 +1(x +3) >O

(3x +1)(x +3) > 0

if a does not lies blw-3 and-Y.

:Curve isincreasing in (-8, -3)v(1/3,8)

Illy curve isdecreasing when dayo



curve is decreasing in (-3, -Y3)
7. Pointof inflexion.

2 70 de
6x +10 70

6x +10 <0

6x<- 10
6x > - 10

xc - 5/2.
x7 - 10 Concave downward.JConcayward. x 7 - 53.



:. Pointofinflexion lies atx=-5t3.

y =x +5n+3x - 4.

y =-+15 - 5 - 4
=1
21

(-43,) ispointofinflexion.



8: Maxima and minima.
- -
- -

Y =

(3x +1) (n +3) =0
x=- 3,- 113.

for x= - 3
d =
6x +10 =6(-2) +10 =

- 80



Function has maximum value at3=-3.

y =x +5x +3x- 4

2 - 27 +45 - 9 - 4 =5

for x = -113. = 6x +10

=6x1 +10 =8>
... Love has minima atx=-1/3.

y =-12 +5(49) +3) -43) -4-



Additional points
- I

5
I

2 30

- I
- 3

- 2 2

- 3 5



.
00.6,0)Nd

0(0,-4)
>

1- 11s, -121(7)


